(streamline  upwind finite

element method)

31
6 [
1
N
06D
LORLUUGN
WuuaL
Y
L.,
31
1
D(f) =0

D (differential operator) &

(31)
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2 (element
interpolation function)
LB
Y
l ¢I
------ ) X
3.2 3
3
3.2 (nodal unknowns) Sl ¢
> 1
$=<xy) =[N, n2 nl. 4
>3,
=Ind # (3.2)
(1x3) (3x1)
[n
3 (element equations)
3.2)
(3.1)
D) 0 =R
R (Residual)

R = D) = D("Nj s1) (33)



k]

«

1« « nffiig
(Galerkin) [2]
(weighting function)
JWJRAQ = 0 i=12..,m (3.4)
Wj = Nj (Bubnov-Galerkin)
4 (integrate by part)
(34)
= JW*D{i N, ¢inQ
= J(Wi,Ni,¢i)dQ + ([(Wi,N.-,cb.,)dF =4
, QE) e
5 rel
6 m
Kl & = {7 (3.5)
(mxm) (mxl) (mxl)
(element stiffness matrix), ]

{F}
3)
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32
[29
(transport
equation)
(velocity field)
dé @ d _ d .
Pudx +pv y dx 1Er*':-)X} +0Y fr%3y\]l (36)
I Xy
B m
r (diffusion coefficient)
3.2
fpuepud gast e ' A 37
p dx pdy) Ai de d 3 dyl SyJJ ( )
(Gauss’s theorem)
- / )
(vt g = [ WedMrej veiha 38
| ) Q r[ v ) JV ) Q (3.8)
(38)
(37)
C vy, o at Kk

Vax  aXjray
v = r Oritr & ] d Jrdy  eayl]
dx  eayl y
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n=nx+ny
= + 7
£ >N _ r dl =0)
vy = N d_x?_ AEP
VU = 5N 5N
dx dyJ
) BN.r A +5N r éty
(3.7)
1 d 5

N do = F N —Un,+—4fnv dr
xr X dy

Ay a5y [ gyl

r rfINdi+ONdI g9 @y

*JybX dx dy dy

pu)?@ + pv’%i) =0 (3.10)

(3.10) 33

oUs|i = 0 (3.11)



24

Us

3.3 (streamline coordinate)
(3.11) 9
it X0da = FT jNdA 313
TUEEN . 313)

AX+

Ay~ 0ANIUN
Y 1

3 (downwind node)
L—» X e—>

34
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34
1 (downwind node)
1 L 1
[29]
tan 9" < tan0 < tan6+ (3.14)
(3.14)
-V JAX~+UujAy~ > 0 (3.15 )
-V JAX++UjAy+ > 0 (3.15)
31 -)
(3.13)
X' y' 35
Fp
F,F2 R
12 3 35 Fp




R = F2/ 02+ Fj) (3-16)
Fp
X' = FpX2 + (I-Fp)x3 (3.17)
y = Fpy2 + 0-Fp)y3 (318)
@I
f = Fpb + (1-Fp)d»3 (3-19)
(3.13)
35 1
pUsa’ =
¥ (3.19)
pUss7 = +0-F-)*»)] B2
As = wilXi- )24 (y, - )2 (3.21)
Us = [(2+vf) (3.22)
(3.13) (3.20)
JNdA
\ 1 iNdA
1 3.6
Af 36 -
INdA
3.7



pu” - F'pin s
0 0
0 0
0 0
-(I-F)p u&s pusﬁfs—
0 0
0 0
0 0
-F pPus” -(1- Fp)pusA
3.6
()
()
()
I
5 6 8
I

L2 3

0

-FppUs As

0
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A
1-Fp)pus” V

<> ()
8

J

"V
8/ ()

B
Y
g U
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3.3
3
1 (advection skew to the mesh)
[34-36]
3.8 (uniform)
225, 45 67.5
STREAM
39 441 800

C /< Ca
0 *'.umﬂ‘V x LFUNTEUR

38 1
1
.2 g (323)
ox 0y
P d c2
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441 qndio
800 LadlunuA

=X

3.9

== {
Exact \

S A
iy 1/

e /L‘\"\

ST

N r"i\‘s‘/

Finite
Difference

—~—

Galerkin

A2
== AN
‘—,ﬁ__‘('l X "ﬁ"h‘ {
S TARIRN |\

310
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STREAM
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I
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2 (Smith and Hutton test case)

Smith and Hutton [37]

3.12
= 2y (1-X2) (3.24)
v=-2x (1-y2 (3.25)
y=I
X=-1 Inlet Outlet x=1
3.12
2
u_ai)_wﬁ 1 d(dty) ldtad (3.26)
ox ov Pe dx kdxy dy Kdy,
Pe = (Peclet number)
&= L+tanh[(2x+ 1)10] ; y=0, -1<X<0 (3.27)
fox=-1; 0O<y<l1
$= 1-tanhlO ™ y=I o 1<X<] (3.28)

X=1 ; O<yx<l
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1891 3600 I
3.14 )=0
X=-1,y=0 =2 x=0,y=0
x=-05 y
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1 ' (PGZOO)
| (3.26) (3.23)
W g -
UD Ve =0 (3.23)
¢
3.15 I
9
3.16 !
' Y|\
4] i V)
il
Flow out lliin \
’ ::‘ :::: \
‘ \ Flow in
/S

3.15 0
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36 ¢ Pe=rco

2 100 (Pe = 100)

3.1

317 6 Pe = 100
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3 (thermal entry problem)
3.18
(L»2a)
ST SH P A TR 3.9
1 « dy) ax(axJ Yy UyJ
kx = ky = k =

& 3 o ~
Hiyvialigunnigs (Ty)

mae‘lvmqmnqﬁm
'I‘ [ [ ] -
(To) HiIMallgunnigy (Ty)

J & ' A v g
U7 3.18 ugaansmzaasliymiminalurieilianuiau

(3.29) [38]
L0 V' R r_PCP
R U (T ) L
ngR)é y'-f.  Re=daU",
,ar ]dv _ afar (
Ex_'w@_ 4 ax'(ax' " dy\dy'j S

10 _16
" PrRe? P

()
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0<x<2 1<yx<1

\

121

NaUNATE
L] Y G

3.20

200

y= | LZZ777777 777777777777 77.

LLLLLLLLLLLL L L L

NN
9 U U

Tx,1)=1;u=v=0

LLLLLLY L L L

T(0,y)=0

u=150-y?)

v=0

LLLL

LLLLLLLL L LS

LLLLLL

3.20

Tx,-1)=1;u=v=0

37
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T(0y) = 0 X = 0 (331)
. - y = 1l (332)

g A x=2 (333)

(fully developed flow)
=15 (1'y2), v=20 (334)

321 Brown [39]
Pr=07 Re= 100 321

1.0
08

0.6

T(x)

STREAM (484 nodes)

04

02

0.0 L =
00 02 04 06 08 10 12 14 16 18 20

321
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